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By 3% 4 Fn044£03 H 28 H eI Dt e/ 71 b (Biir)
i 4 JE Hh = Wae | %K F i fiE T fE g2y ]
H 32 £ IH 15. 00| FA % 491 7, 365 1,782 1, 629 1, 080
X H D e E 12. 00 | #H%f 460 5,520 1, 404 678 486
F 9 NAEL w5 4. 00| FH%f 79 316 1,188 1,132 1,080
H % ol 3. 00| FHxf 71 213 1,501| 1,325| 1,188
i A ] 1L 1. 00| FHxf 310 310 432 303 216
ENIE 500 fxt| 22| 110 2,160 2,037| 1,620

HOX {r 4. 00| AR} 10 401 1,620 1,328| 1,080
A w5 2. 00 | FH %t 311 622 864 692 432
= e K 4, 00| FH*} 53 212 702 568 486
[ I\ w5 5. 00 | #H 5t 1,173 5,865 1,566 1,214 864
~7 b~ b = 3. 00| FH*} 32 96| 1,620 1,600 1,404
IR Ak L 2. 00| FHxf 21 42| 1,728 1,563 1,296
T e S 10. 00| AHxf 395 3,950 2,592 1,599 1,404
B ¥ = 10. 00 | #H % 12 1201 3,240 3,042| 3,024
£ # O 10. 00| AHxf 473 4,730 3,780 3,525 1,944
LA A It fE 10. 00 | #H%f 750 7,500 2,203 1, 861 1, 080
=1 & & 4, 00| FH*} 420 1, 680 1, 404 904 702
Toyal)— o 6. 00 | FH%f 216 1,296 2,808 1,647 864
= 1| 6.oo|fAxt| 6] 36| 1,728] 1,368 1,296

AMEE (i 0. 10| #Hf | 3,900 390 151 99 65
ZDEH & ¥ 0. 20 [ A%} 900 180 69 48 28
LU £ ¥ 0. 20 [ #Hx} 150 30 82 59 44
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5 U H & 10. 00| FA % 266 2,660 4,320 3,420 3,024

Yata— HF & 10. 00 | #H%f 199 1,990 5,130 4,557 2,808

Avara 7 4 U E | 13.00| fH%f 3 39 2, 268

bHFEED @ [ 0. 27| FAx%F 5, 302 1,432 378 333 238

S X EF I 0.25( fHxt [ 15, 550 3, 895 432 312 194

BHDY S 5 0.25| #Hxf | 3,220 807 346 297 184




